
Semlax 611	 vertical
parts pieces

Motorized drive tube 1

Stabilizer tube 2

Torque tube 1

Motorized drive tube 
angle 1

Base angle rail 2

Front motor connector 1

Motor bracket LHF 
Motor bracket RHF

1
1

Betadrive motor 
incl. back motor connector

1
1

Tail spring : 2p.

Self tapping bolt M7x13: 16p.

Self tapping bolt M7x18: 4p.

Self tapping bolt M7x25: 2p.

Plastic glide: 4p.

Bolt 3/8”x22: 2p.

Bolt 1/4”x16: 4p.

Bolt 1/4”x30: 4p.

Bolt 1/4”x25: 2p.

St 6,5x30: 2p.

Nut 1/4”: 10p.

Motor metal washer: 2p.

Available sizes:
dash 1 2 3 4 5 6 7 10

mm 475 500 525 550 575 600 625 700

sa SEDAC-MECOBEL nv   i.z. Zuid Vlamingstraat 7, 8560 Wevelgem-Belgium - T +32 (0)56 41 28 81 - F +32 (0)56 41 81 76
sa MERAL - B.P. 4 - 72800 Aubigné-Racan, France - T +33 (0)2 43 46 21 22 - F +33 (0)2 43 46 22 76

info@sedac-meral.com - www.sedac-meral.com

Standard  
1 motor

same height

611




